

INVOICE

BILL TO WWJ Corp Edd Lombard 3 Widefield Blvd Colorado Springs, Co 80911 USA Tach 3469.06 INVOICE # 1056 DATE 08/16/2017 DUE DATE 08/16/2017

SHIP DATE	
08/16/2017	

NNUMBER

DATE	ACTIVITY	DESCRITION	QTY	RATE	AMOUNT	
	Hourly Service	Trouble shoot charging system, Hemove cowling, Remove generator and regulator for testing and repair, Reinstall regulator and generator after repair. Test and reinstall cowling	3	85.00	255.00	
					0.00	
		Customer paid Aero Accessories directly			0.00	
*****		PAYMENT			255.00	
		BALANCE DU	JE		\$0.00	



INVOICE

BILL TO WWJ Corp Edd Lombard 3 Widefield Blvd Colorado Springs, Co 80911 USA Tach 3469.06 INVOICE # 1428

DATE 08/30/2018

DUE DATE 08/30/2018

SHIP DATE 08/30/2018

N NUMBER

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT	
	Annual Comanchee	Annual omanche	1 9	1,300.00	1,300.00	
	AD 2012-17-06	AD 2012-17-06 Install Australian Kit	1	1,800.00	1,800.00	
	Hourly Service	Replace interior brake hoses, Bleed and flush brakes, after hose replacement	1.25	90.00	112.50	
Vp.381 rs act to relaction 00 US	Hourly Service	Repair Broken ground on LH magneto P lead, Trouble shoot engine not turning off. Clean and lubricate the inside of the switch.	2	90.00	180.00	
	Hourly Service	Replace engine hoses and the interior brake hoses	3	90.00	270.00	
	Hourly Service	Replace all 4 rubber engine mounts	4	90.00	360.00	
	Hourly Service	Service all 3 struts with fluid and air	0.75	90.00	67.50	
	Hourly Service	replace seat belts	0.50	90.00	45.00	
	Hourly Service	spray corrosion x in the empennage where water	0.25	90.00	22.50	

DATE	ACTIVITY		DESCRIPTION	QTY	RATE	AMOUNT
			had been leaking on to the stringers and ribs it was starting to corrode			88.2 AB
	Hourly Sen	/ice	Replace broken hose clamp on the carb heat ducting and re riveted the duct.	0.50	90.00	45.00
	Hourly Sen	/ice	Replace LH steering boot with new	1	90.00	90.00
			Will How			0.00
	CH48110-1		CH48110-1 oil filter	1	32.00	32.00T
	BA-3205		BA-3201 Air Filter	2	16.95	33.90T
	AEROP100 Plus	W	100W AeroShell oil	10	8.83	88.30T
	J-3804-20		J-3804-20 Lord Rubber engine mount	4	199.48	797.92T
	21378-00		21378-00 Steering boot	1	75.00	75.00T
	Seat belts		Seat Belts	2	95.00	190.00T
	AE3663231	E0083	AE3663231E0083 hose	1	54.74	54.74T
	AE3663231	E0104	AE3663231E0104 hose	1	59.98	59.98T
	AE3663161	B0075	AE3663161B0075 Hose	1	80.40	80.40T
	AE3663161	G0227	AE3663161G0227 Hose	2	118.51	237.02T
	AE3663162	2G0143	AE3663162G0143 Hose	1	135.90	135.90T
	AE3663161	1H0484	AE3663161H0484 Hose	1	246.46	246.46T
	AE3663161		AE3663161H0492 Hose	1	250.26	250.26T
	359-2D008	2	359-2D0082 Hose	1	48.96	48.96T 0.00
	Shipping		Shipping hoses both ways	90	30.00	30.00
	Shipping		mounts and boots	1.0	15.00	15.00
			mach paga gaygad			
			SUBTOTAL			6,668.34
			TAX (7.75%)	60	Hazary Cervi	186.47
			TOTAL			6,854.81
			PAYMENT			6,854.81
			BALANCE DUE			\$0.00
			Probase angina has a and the more areae oos as	-3	Hondy Servi	
					West vheck	
					Houriy Servi	
					Hourly Smr.	



INVOICE

BILL TO WWJ Corp Edd Lombard 3 Widefield Blvd Colorado Springs, Co 80911 USA Tach 3469.06 INVOICE # 1860 DATE 12/09/2019 DUE DATE 12/09/2019

DXACE JA

SHIP DATE 12/09/2019 N NUMBER

		100				
DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT	
\$ 3.72.70	Annual Comanchee	Annual omanche	1	1,300.00	1,300.00	
65, FR 86, APB, F 88, APB, F	Hourly Service	Replace the battery, Install battery charger interface kit in the baggage compartment.	1	90.00	90.00	
00.78	Hourly Service	Replace the ignition switch assembly with new ACS switch	1	90.00	90.00	
	Hourly Service	CW AD 77-13-21 bungee replacement, Service the struts with air and fluid	3	90.00	270.00	
	Hourly Service	Dress the propeller	0.25	90.00	22.50	
	Hourly Service	Tighten #6 oil return coupling, Stop drill several cracks in the baffling in the engine compartment,	0.50	90.00	45.00	
	Hourly Service	Adjust the rudder cable tensions	0.75	90.00	67.50	
	Hourly Service	Replace the shimmy Dampener bracket and eye bolt, replace the Nose gear door actuator arm eye bolt and clevis	1	90.00	90.00	

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
				of the Williams	0.00
					0.00
					0.00
	AEROP100W Plus	100W AeroShell oil	3	8.83	26.49T
	402-032	402-032 Eye bolt	1	8.95	8.95T
	11601-003	11601-003 Shimmy Dampener Eye Bolt	1	89.99	89.99T
	W21709-000M8	L W21709-000M&L Shimmy Dampener Bracket	1	35.99	35.99T
	21831-003	21831-003 Bushing, Shimmy Damper	1	51.42	51.42T
	Shipping	Shipping Piper parts listed above	1	16.88	16.88
	128CEC1-AA-S	128CEC1-AA-S5 Battery charger, Approved for aircraft	1		229.90T
	BM-AIK2A	BM-AIK2A Battery interface kit	1	65.95	65.95T
	RG-35AXC	RG-35AXC	1	363.83	363.83T
	A-510-2	A-510-2 Ignition Switch	1	187.75	187.75T
	451-359	8097 Landing Gear Bungee Cord	2	89.07	178.14T
	BA-3205	BA-3201 Air Filter	1	16.95	16.95T
A000.A				Annual A	************
	66.08	SUBTOTAL TAX (7.75%)		Comanche Lourly Sen	3,247.24 97.29
		TOTAL			3,344.53
		PAYMENT BALANCE DU	E Bol	Hourly Serv	3,344.53 \$0.00
	00.0s S	CS/AD 77-12-21 bungee collection; Secreta the stress with air and the	607	House, Sen	
		Ureas the ownseller (i)		Hourty Sen	
		lighten #6 oil return combiner Stop drift several creams in the perform in the engine conspanies.			
	00.00				
	0 0.07	Replace the shimmy Dampen a product and eye pelt, replace the Nose gerndoor aduaters in		Hourly Sen	



INVOICE

BILL TO
Edd Lombard
WWJ Corp
3 Widefield Blvd
Co
Tach 3469.06
Colorado Springs, CO
80911

DATE 09/07/2021

DUE DATE 10/01/2021

TERMS Due on receipt

N NUMBER N6244P

USA

3488.7

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
	Annual Comanchee	Annual Comanche	1	1,300.00	1,300.00
	CH48110-1	CH48110-1 oil filter	1	34.93	34.93T
	BA-3205	BA-3201 Air Filter	1	22.06	22.06T
	Spark plug gasket	M674 Spark plug gasket	12	0.42	5.04T
	AEROP100W Plus	100W AeroShell oil	11	9.99	109.89T
Tos. ref	91.207D ELT Test,	FAR 91.207D Elt Inspection, Replace battery pack with new.	1	100.00	100.00
			1		45.99T
600.00	Hourly Service	The stall warning circuit breaker keeps popping.	0.50	100.00	50.00
		Warning light is falling out of the instrument panel.		200-78705	
	7.00	is put back into place the			
	Hourly Service	Adjust the idle and and	0.25	100.00	25.00
	108.78 Tes 7 Tes.7 00.00 Tes.78 Tes.78	Annual Comanchee CH48110-1 BA-3205 Spark plug gasket AEROP100W Plus 91.207D ELT Test, BP-1010 Hourly Service	Annual Comanche Comanchee CH48110-1 BA-3205 BA-3201 Air Filter Spark plug gasket AEROP100W Plus 91.207D ELT Test, FAR 91.207D Elt Inspection, Replace battery pack with new. New Due date is Aug 2023 BP-1010 BP-1010 ELT battery Hourly Service The stall warning circuit breaker keeps popping. We also noticed the Warning light is falling out of the instrument panel. I suspect that when the light is put back into place the breaker will stop popping.	Annual Comanche Comanchee CH48110-1 CH48110-1 oil filter BA-3205 BA-3201 Air Filter Spark plug gasket M674 Spark plug gasket 12 AEROP100W 100W AeroShell oil 11 Plus 91.207D ELT FAR 91.207D Elt 1 Test, Inspection, Replace battery pack with new. New Due date is Aug 2023 BP-1010 BP-1010 ELT battery 1 Hourly Service The stall warning circuit breaker keeps popping. We also noticed the Warning light is falling out of the instrument panel. I suspect that when the light is put back into place the breaker will stop popping.	Annual Comanche Comanchee CH48110-1 CH48110-1 oil filter 1 34.93 BA-3205 BA-3201 Air Filter 1 22.06 Spark plug gasket M674 Spark plug gasket 12 0.42 AEROP100W 100W AeroShell oil 11 9.99 Plus 91.207D ELT FAR 91.207D Elt 1 100.00 Test, Inspection, Replace battery pack with new. New Due date is Aug 2023 BP-1010 BP-1010 ELT battery 1 45.99 Hourly Service The stall warning circuit breaker keeps popping. We also noticed the Warning light is falling out of the instrument panel. I suspect that when the light is put back into place the breaker will stop popping.

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT	
		mixture settings. The idle is too high and there is no rise when you pull the mixture back.				
	Hourly Service	Dress the propeller	0.25	100.00	25.00	
	Hourly Service	replace the bushings in both RH and LH Lower torque links then Line hone. Reassemble with new hardware.	1.50	100.00	150.00	
	W20737-002	W20737-002 Torque link bushing	12	19.95	239.40T	51.5
150	Hourly Service	reseal the RH strut assembly. the wiper seal is coming apart	1.50	100.00	150.00	
ralen	Strut kit Piper	Strut kit Piper	1	32.95	32.95T	
	5606	5606 Hydraulic fluid	0.25	37.72	9.43T	
	Hourly Service	Replace the nose gear steering rollers with new.	0.75	100.00	75.00	
		yours are excessively worn. The book calls out .010 clearance. you have approx187 clearance.		OO apane		
	14175-113	14175-113 Nose gear steering bushing	2	89.65	179.30T	
	Hourly Service	Reseal the hand brake. there is fluid all down the inside of the belly and we	1	100.00	100.00	
OJ.00E		can see fluid dripping from it.				
	MS28775-211	MS28775-211 O ring	1	2.99	2.99T	
	MS28775-113	MS28775-113 O ring	1	1.25	1.25T	
	MS28775-012	MS28775-012 O ring	1	1.25	1.25T	
	MS28775-010	MS28775-010 O ring	lest a lap	1.20	1.20T	
	Hourly Service	Replace the nose gear Retract arm bushings and bolts	1 _N	100.00	100.00	
	14843-018	14843-018 nose gear drag link bushing.	7	21.60	151.20T	
	22066-000	22066-000 Close tolerance pivot bolt	2	45.00	90.00T	
	Hourly Service	Replace both LH and RH drag link brace bushings and pins	6	100.00	600.00	
	20737-005	20737-005 Side stud bushings	2	43.75	87.50T	
	20737-006	20737-006 Side stud bushing	2	29.11	58.22T	
	487-596	487-596 Side stud. new	2	328.80	657.60T	

DATE	ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
	14843-030	style 14843-030 Bushing side stud	2	57.06	114.12T
	14843-016	14843-016 Drag link bushing	8	11.99	95.92T
	Hourly Service	Replace 1 landing gear drag link bushing/rod end bolt. Parts are discontinued and we are looking for more.	2	100.00	200.00
	Misc Hardware	AN8-34 bolt	1	12.95	12.95T
	Hourly Service	Aileron, flap and rudder system pullies are in pretty rough shape. replace	10	100.00	1,000.00
	41001-008	41001-008 Pulley	20	72.00	1,440.00T
	41001-003	41001-00 Pulley3	1	72.00	72.00T
	Hourly Service	Air box shaft bushings are getting loose, and several craks in the	2	100.00	200.00
	Misc expense	Send the air box out for rebuilding. It went to Joe Rogg. and air box specialist. This was out cost from him, No mark up	1	950.00	950.00T
	Shipping	Shipping	1	45.00	45.00
	Hourly Service	The wind screen is cracked and crazed bad. We have squawked it a few times and it is getting worse. You need to have it replaced ASAP. We would suggest Foothill Aviation for this. They are at Cable airport. (defer)	0	100.00	0.00
	Shipping	Shipping, Piper parts	1	45.93	45.93
	Hourly Service	Replace the nose gear upper housing with serviceable unit. we found yours to be cracked after we washed and degreased your gear with the steam cleaner.	3	100.00	300.00
	21715-000	Piper PA25 Nose Gear HousingServiceable	1	390.00	390.00T
	IFR Pitot static check	IFR Pitot Static Check, Precise Pitot Static	1	350.00	350.00
	Hourly Service	Leach check the aircraft. Replaced all flexable pitot static lines and couplers. Replaced the Air speed indicator with overhauled	7	100.00	700.00

DATE	ACTIVITY	DESCRIPTION AND AND AND AND AND AND AND AND AND AN	QTY RATE	AMOUNT
114.12T		unit. (invoiced from Precise pitot static, My cost)	14843-030	
95 92 T	misc parts	Replacement airspeed indicator. Yours was not	1 612.18	612.18T
200 00		repairable. My cost from Global tech in Huntington Beach ca	Hourly Service	
	38.51	SUBTOTAL	and development of the	10,933.30
		TAX (7.75%) TOTAL PAYMENT	Misc Mardware Hourly Service	419.85 11,353.15 11,353.15
1,440.00T 72.00T		BALANCE DUE		\$0.00
200,00		Air box shaft pushions are getting loose, and as veral craks in the	Hourly Service	
T00,038		Send the air box out for sebuilding, it want to the Rodol and air box specialist. I his was out took from him, No mains to the	Misc expense	
	00.85		gning ri3	
00.0		The wind sorted is creaked and or uzed bad. We have aquawked it a feeting feeting worse. You need to have it aptagest Football Aviation for this, They are at Carre at pural care of Carre		
			oniquir's	
		Replace the nose gear upper Lousing with service able tent we found yours to be discoved after we wastled and organismed your near with the steam of land.	Hoarly Service	
			21715-000	
		Leanh check for charaft. Replaced all flerable of it static lines and coursers. Replaced the Air speed ladicator with over anled	Hourity Service	





INVOICE

BILL TO

Edd Lombard WWJ Corp 3 Widefield Blvd Co Tach 3469.06 Colorado Springs, CO 80911

N NUMBER

USA

N6244P

mana enigns entratteef treit everal **invoice**t fol abing DATE TERMS DUE DATE

3351 11/14/2023 Due on receipt 12/01/2023

TACH TIME

3493.9

ACTIVITY		and to provide weekly providen		RATE	Ά	MOUNT
Annual Comanchee	7 tilliaal Collialiono			1,000.00	1	,300.00
100W SAE 50	Aeroshell 100W				1	29.90T
AA48110-2 Oil Filter	TEMPEST AA48110-2 OIL FILTER	viers and a memorine	A Jack	45.99		45.99T
AOA kit	AOA kit, oil analysis		1 135	24.99		24.99T
Spark plug gasket	M674 Spark plug gasket		12	0.75		9.00T
BA-3205	BA-3205 Air Filter		1	16.95		16.95T
05-01019	electric fuel pump gasket		1	12.99		12.99T
751-858	751-858 Gasket, Old style fuel pu	mp.	1	35.00		35.00T
Shipping	shipping for the 751-858 gasket. from Piper and had to come from		1	15.95		15.95
Hourly Service	Replace the ignition switch becau	ise the key had been lost.	1	120.00		120.00
A-510-2	A-510-2 Ignition Switch. KEY COI	DE 097	1	198.26	1	198.26T
91.207D ELT Test,	FAR 91,207D Elt Inspection		1	120.00		120.00
BP-1010	BP-1010 ELT battery New Due D	ate 12-2025	1	52.87		52.87T
AD 77-13-21 par b	AD 77-13-21 par b Piper landing	bungee replacement	2	120.00		240.00
451-359	8097 Landing Gear Bungee Cord	I	2	89.07	1	178.14T
Hourly Service	Replace worn out cowl latch hing were worn almost to failure.	e pins. 1 was broken and 3	0.50	120.00		60.00
AN392-25	CLEVIS PIN		6	0.72		4.32T
MS24665-132	MS24665-132 Cotter pin		6	0.20		1.20T

Hourly Service		Stop drill several	cracks in the cowling	0.25	120.00	30.00
Hourly Service		Adjust the elevato	r trim cable tension.	1	120.00	120.00
Hourly Service		Service the struts	with fluid and air	2	120.00	240.00
5606		5606 Hydraulic flu	iid 1 gallon.	1	50.00	50.00T
Hourly Service		Install missing Dic	de for the starter solenoid.	0.75	120.00	90.00
Hourly Service		Tighten hardware	for the torque links.	0.75	120.00	90.00
Hourly Service		noise once the en coming from Cylin	engine making an intermittent tapping gine is running. Found the noise to be der 1. with the stethoscope we could hear exhaust valve lifter. Check the valve	4.50	120.00	540.00
		guide for freedom After fixing the lou the #2 intake. Ren	of movement. Test run the engine again. dest noise a lesser noise was heard from nove the #2 intake valve lifter and replace. The engine is no longer making the			
SL75906		SL75906. Valve c	over gasket.	2	2.75	5.50T
15B21319		15B21319 Hydrau	ılic Tappet Socket.	2	29.98	59.96T
SL78290		SL78290 PLUNG	ER ASS Y	2	101.92	203.84T
Detail		Color sand and b	uff the paint. Wash and wax the plane.	1	475.00	475.00
Hourly Service		R/R the front wind	screen	7.50	130.00	975.00
misc parts			ndshield. This was more or less a custom originally came with a 2 piece windscreen.	1	800.00	800.00T
			er isn't around anymore. The one we rk was not the correct size. We had to have	ai Camendar		
			uplicated. My cost was \$800.00	West Freed		
IFR Pitot Static		IFR Pitot Static, Fi	x Leaks, Replace the encoder.	1 5 0 1 7 AAA 18E	450.00	450.00T
misc parts		Encoder		0	0.00	0.00T
We have a new shipping add	dress	9	SUBTOTAL	residente de la constante de l La constante de la constante d		6,694.86
Ben's Motorworks 2271 W Malvern Ave #384 Fullerton Ca 92833			TAX (7.75%)			176.62
10/1/18			TOTAL garage and all			6,871.48
			PAYMENT			4,549.60
			and mand ban BALANCE DUE man			\$2,321.88

Pay invoice